RseA® 109 85K FALBALAREYE B4 4£RNR
# 1R # 2R

# R # Blei$ % P B\ % A XM 2 AT 8(R) 8 = &

ARLEAOKRA  ZEFLH > TR H B - TUPXRAXFS -

%740

B ARREN P —AARZARY - EIHMERE I METEA W BEH s F 1 B F LR
ho FREEE (L+1y)s REHR BT reyr BATHAE-N, AR IMACRIE BFEA N £
EEAN Ny thhotlh - RAREEATHE A FEATH > 3 Nyp = Nypoy » B0 BREHA T AR
EBH-BEFHE n FIHFBATTERIR Ny =Q+n)Nypy e

2+n

(1) 6 MEss No=(20)Ny, -
() (5 )% cre ARG AL R-LIMARE BB AL (30 TR -
(3) (5 #)% Cz,t+1%ﬁﬁ'fi%-éf-/\fh% tH] BB R EALE M1 O RERSIK -

MHEM%ﬁﬁﬁﬂ#&%ﬁﬂ%@ﬁmﬁmﬁﬁmﬂﬁv

F&U&Mﬁﬁﬁﬁﬁﬂ%@ﬁ%ﬁﬁ&ﬁ%Uzmqﬁﬁmgwwﬁ*ﬁ=ﬁ§%%ﬁ@%ﬂ%ﬂ%@
B e R 6 £ (B RLE) - AuB(A)Re 5 M AR R R B RMEE AT oo G R S0

|6) (5 AVRRAE r >0 ERBERET » fLBE 6/ Gt

¥ 825 o
Suppose a utility function is defined as U(l, €) = 2! +4C and the copsumer’s budget constraint is
C=w(l-0)+mn—T. C is consumptiSfr=i=ig*€isure fiemw=igthourly real wage, m is dividend

income, and T is the lump-sum tax. The total hours are normalized to 1. Assume © > T.

(1) (5 %) What is the marginal rate of substitution between | and C? (Let be on the x-axis)
(2) (10 %) If w equals 1 unit of consumption goods, what will be the optimal € and [?

Now suppose the government considers imposing a proportional tax t on wage income that will yield

he same revenue as the lump-sum tax scheme.
(3) (5 %) Write down the consumer’s budget constraint under a proportional tax scheme.

(4) (5 %) Explain why a competitive equilibrium is not Pareto optimal under a proportional tax scheme.




Basis A% 109 #£5 8 ALERTABES B4E4 KRR
# 2R-#£ 2R

# B A aax$ # A B BB A FRM2ATE(ER R =8

=154

A tea shop is in a monopolistically competitive market. The market demand facing the tea shop is given
by Q = 200 — 2p, where p is the price per cup of tea. Suppose the tea shop's total fixed cost is $2,000
a day. The tea shop's average variable cost and marginal cost are a constant $30 per cup.

(1) (5 %) What is the tea shop's profit-maximizing price?

(2) (5 %) What is the tea shop's price markup?

(3) (5 %) What is the tea shop's maximum economic profit?

FwA: 20 4

Suppose the market demand for T-shirts in country Ais defined as Q = 90 — 10p, where p is the price

per T-shirt. T-shirts are supplied by firms in country A and firms in country'B. Assume that in each
ountry there are 10 firms in the T-shirt industry that behave competitively and have an identical cost
unction given by c(q) =¢?/2, where g represents the T-shirts\produced by each firm.

(1) (5 %) What are the equilibrium price and quantity of T-shirts sold?

(2) (5 %) Now suppose country A imposes a $3 tariff on T-shirts imported from country B. What is the

new price of a T-shirt paid by'the eonsumers in country A? What is the new quantity of T-shirts sold?

(3) (5 %) How many T-shirts are imported, from country B after.the $3 tariff is imposed?

(4) (5 4-) How many T-shirts are supplied by the.fitms.in-country A after the $3 tariff is imposed?
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Standard Normal Distribution Table
= .
0 z
[z 00 [ o [ 02 ] 03[ 04 05T 061 07 [ 08 | 09
0.0 [ .0000 | .0040 | .0080 | .01 01 ’ 10239 | .0279 | .0319 | .0359
0.1 | .0398 | .0438 | .0478 636 | .0675 | 0714 | .0753
0.2 | .0793 | .0832 | .0871 J. 6 | .1064 | .1103 | .1141
03 .1179 | 1217 | .125 1443 | 1480 | .1517
0.4 | .1554 | .1594*". "'T808., .1844 | .1879
0.5 | .1915 : 2190 | 2224
0.6 | 2257 .2389 242 2549
0.7 | .258 : 3! 2852
0.8 | .28 2967 2995 | % 3133
09 | .31 12'| 3238 3289 §315 3389
1.0 | 34 3485 | 3508 | 353~ V3554 | 3621
1.1 | .364 3 79 1= %3770 (§. 0/ 3830
1.2 | .3849 3 3975 m3962 |f. 4015
1.3 | 4032 | ¥ 66 | .4082 | 4099 %2 ’34131 ) 4162 | 4177
1.4 | 4192 | .4207 4286 | 4251 2427 4306 | 4319
1.5 | 4332 4 0 | 4382 | 4394 | 4406 4429 | 4441
1.6 | .4452 | 446 4495 4505 : 535 | .4545
1.7 | .4554 | 456 : 4625 | 4633
1.8 | 4641 | 4649 4699 | 4706
1.9 | 4713 | 4719 (% 56 4761 | 4767
2.0 | 4772 | 4778 . 1 4808 | 4812 | .4817
2.1 | 4821 | 4826 | .4830 AR38 | 4850 | 4854 | .4857
22 | 4861 | 4864 | 4868 | 4871 | 4875 | 4878 | 4881 | 4884 | 4887 | .4890
23 | 4893 | .4896 | .4898 | 4901 | .4904 | 4906 | 4909 | 4911 | 4913 | 4916
24 | 4918 | 4920 | 4922 | 4925 | 4927 | 4929 | 4931 | 4932 | 4934 | .4936
2.5 | 4938 | 4940 | 4941 | 4943 | 4945 | 4946 | 4948 | 4949 | 4951 | 4952
2.6 | 4953 | 4955 | 4956 | 4957 | .4959 | .4960 | 4961 | 4962 | 4963 | 4964
2.7 | 4965 | .4966 | 4967 | 4968 | 4969 | 4970 | 4971 | .4972 | 4973 | 4974
2.8 | 4974 | 4975 | 4976 | 4977 | 4977 | 4978 | 4979 | .4979 | .4980 | .498]
29 | 4981 | 4982 | 4982 | 4983 | 4984 | .4984 | 4985 | .4985 | 4986 | .4986
3.0 | 4987 | 4987 | 4987 | 4988 | 4988 | 4989 | .4989 | .4989 | .4990 | 4990
731 1.4990 | 4991 | .4991 | 4991 | 4992 | 4992 | 4992 | .4992 | .4993 | .4993
32 | 4993 | 4993 | 4994 | 4994 | 4994 | 4994 | 4994 | 4995 | 4995 | 4995
3.3 | 4995 | .4995 | 4995 | 4996 | .4996 | 4996 | .4996 | .4996 | 4996 | 4997
34 | 4997 | 4997 | 4997 | 4997 | 4997 | 4997 | 4997 | 4997 | 4997 | 4998
3.5 | 4998 | 4998 | 4998 | 4998 | 4998 | 4998 | 4998 | 4998 | 4998 | .4998
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1
The shaded area is equal to o for £ = ¢,,.
df t.100 t.050 toio t.005
1 3.078 6.3 31.821 63.657
2 1.886 0 9.925
3 1.638 5.841
4 1.533 : 4.604
5 1.47 2.571 4.032
6 1.4 2. 3.707
4 1.4 . i 3.499
8 1.3 0 3 8 3.355
9 1.3 33 2 3.250
10 1.37 12 . 2K 3.169
11 1.363 6 2.20 f 3.106
12 1.356 2.17 ) 3.055
13 1.350 2.16 3.012
14 1.345 2.145 2,977
15 1.341 2.13 2.947
16 1.337 - 2,921
17 1.333 2.808
18 1.330 2.878
19 1.328 _ . 580 2.861
20 1.325 1. 2.086 528 2.845
21 1.323 1721 2.080 2.518 2.831
22 1.321 1.717 2.074 2.508 2.819
23 1.319 1.714 2.069 2.500 2.807
24 1.318 1.711 2.064 2.492 2.797
25 1.316 1.708 2.060 2.485 2.787
26 1.315 1.706 2.056 2.479 2.779
27 1.314 1.703 2.052 2.473 2.771
28 1.313 1.701 2.048 2.467 2.763
29 1.311 1.699 2.045 2.462 2.7506
30 1.310 1.697 2.042 2.457 2.750
32 1.309 1.694 2.037 2.449 2.738
34 1.307 1.691 2.032 2.441 2.728
36 1.306 1.688 2.028 2.434 2.719
38 1.304 1.686 2.024 2.429 2712
0o 1.282 1.645 1.960 2.326 2.576




CRIHE RS 100 258 BLEE AT B4 £ KRR

$L5H % TH
A W A B#RHE B oA Bl a A R 2 A7 B(R) B
Chi-Square Distribution Table
\\
0 x*
The shaded area is to a for x2 = x2.
df X905 X0 X5 5 X050 Xozs X0 Xo0s
1 0.000 0.000 0.001 ] 841 5.024 6.635 7.879
2 0.010 0.020 0.08 0 " T7.378 9.210 10.597
3 0.072 0.115 0. : 48 11.345 12.838
4 0.207 0.297 . ol B 13.277 | 14.860
5 0.412 0.55 43 1.610 9.23 15.086 | 16.750
6 0.676 0. 3 204 : 16.812 | 18.548
7 0.989 1.289 167 2.833 § : 18475 | 20.278
8 1.344 1 2.73 i 3.36 135 20.090 | 21.955
9 1.735 2, 3.32 4.168 11.68: 1691 21.666 23.589
10 2.156 2. 3.9400 o iy 18.80 23.209 25.188
11 2.603 3.09 4.575 5D 5 19.67 24.725 26.757
12 3.074 3.571 5.22 04 18.54 212 S 26.217 28.300
13 3.565 4.107 5. 5.89 42 19.81 2213 248736 27.688 29.819
14 4.075 4.660 5 g | 90 21.06 119 29.141 31.319
15 4.601 5.229 ‘ A | 8047 $22.307 21188 30.578 32.801
16 5.142 5.812 ) 9.312 23.54 28845 32.000 34.267
17 5.697 6.408 : 7. 30.191 | 33.409 | 35.718
18 6.265 7.015 8. 026 | 34.805 | 37.156
19 6.844 7.633 9( 2,852 36.191 38.582
20 7.434 8.260 9.541 34.170 37.566 39.997
21 8.034 8.897 10.2 E 3,24 9 32.6 35479 | 38.932 | 41.401
22 8.643 9.542 10.982 041 ' 924 36.781 40.289 42.796
23 9.260 10.196 11.689 13.091 14.848 32.007 35.172 38.076 41.638 44.181
24 9.886 10.856 12.401 13.848 | 15.639 | 33.196 | 36.415 | 39.364 | 42.980 | 45.559
25 10.520 11.524 13.120 14.611 16.473 34.382 37.652 40.646 44.314 46.928
26 11.160 12.198 13.844 15.379 17.292 35.563 38.885 41.923 45.642 48.290
27 | 11.808 | 12.879 | 14.573 | 16.151 18.114 | 36.741 | 40.113 | 43.195 | 46.963 | 49.645
28 12.461 13.565 15.308 16.928 18.939 37.916 41.337 44.461 48.278 50.993
29 | 13.121 14.256 | 16.047 | 17.708 | 19.768 | 39.087 | 42.557 | 45.722 | 49.588 | 52.336
30 | 13.787 | 14.953 | 16.791 18.493 | 20.599 | 40.256 | 43.773 | 46.979 | 50.892 | 53.672
40 | 20.707 | 22,164 | 24.433 | 26.509 | 29.051 01.805 | 55.758 | 59.342 | 63.691 | 66.766
50 | 27.991 29.707 | 32357 | 34.764 | 37.689 | 63.167 | 67.505 | 71.420 | 76.154 | 79.490
60 35.534 37.485 40.482 43.188 46.459 74.397 79.082 83.298 88.379 91.952
70 43.275 45.442 48.758 51.739 55.329 85.527 90.531 95.023 | 100.425 | 104.215
80 51.172 53.540 57.153 60.391 64.278 96.578 | 101.879 | 106.629 | 112.329 | 116.321
90 59.196 61.754 65.647 69.126 73.291 107.565 | 113.145 | 118.136 | 124.116 | 128.299
100 | 67.328 | 70.065 | 74.222 | 77.929 | 82.358 | 118.498 | 124.342 | 129.561 | 135.807 | 140.169
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Numerator df
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1 2 3 4 5 6 7 8 9 10 11 12 15 20 24 30 60 120 ®

1 648 799 864 899 921 937 948 956 963 968 373 976 984 993 997 1001 1009 1014 1018

2| 385 39.0 39.1 39.2 39.3 39.3 39.3 39.3 39.3 354 394 39.4 394 394 394 394 394 39.4 395

3 17.4 16.0 15.4 15.1 14.8 14.7 14.6 14.5 14.4 14.4 14.3 14.3 14.2 14.1 14.1 14.0 13.9 13.9 13.9

4 12.2 10.6 9.9 9.6 9.3 9.2 9.0 8.9 8.9 8.8 8.7 8.7 8.6 8.5 85 8.4 8.3 83 8.2
5 10.0 8.43 7.76 7.39 7.15 6.98 6.85 6.76 6.68 6.62 6.57 6.52 6.43 6.33 6.28 6.23 6.12 6.07 6.02 _
6| 881 7.26 6.60 6.23 5.99 582 5.70 5.60 5:52 5.46 5.41 5.37 5.27 5.17 5.12 5.07 4.96 4.90 4.85 .
7| 8.07 6.54 5.89 5.52 5.29 >. 18 4.99 490 4.82 4.76 4.71 4.67 457  4.47 4.41 4.36 4.25 4.20 4.14 7

8 71.57 6.06 542 5.05 4.82 4.65 4.53 443 436 430 4.24 4.20 410 4.00 3.95 3.89 3.78 3.73 3.67

9 7.21 571 5.08 4.72 4.48 4.32 4.20 410 403 3.96 391 3.87 3.77 3.67 3.61 3.56 3.45 3.39 333
10 6.94 5.46 4.83 4.47 424 407 8.93 3.85 3.78 3.72 3.66 3.62 3.52 3.42 3.37 3.31 3.20 3.14 3.08 |

11 6.72 5.26 4.63 4.28 4.04 3.88 3.76 3.66 3.59 3.5% 3.47 3.43 3.33 3.23 3.17 3.12 3.00 2.94 2.88

12 6.55 5.10 4.47 4.12 3.89 3.73 3.61 35,1 3.44 337 332 3.28 3.18 3.07 3.02 2.96 2.85 2.79 2.72
13 6.41 4.97 4.35 4.00 3.77 3.60 3.48 3.39 3.31 3.25 3.20 3.15 3.05 295 2.89 2.84 2.72 2.66 2.60 _

- 14 6.30 4.86 4,24 3.89 3.66 3.50 3.38 B.29 3.21 3.15 3.09 3.05 2.95 2.84 273 2.73 2.61 2.55 249
.M 15 6.20 4.77 4.15 3.80 3.58 3.41 3.29 3.20 3.12 3.06 3.01 2.96 2.86 2.76 270 2.64 252 2.46 2.40 _
..m 16 6.12 4.69 4.08 373 3.50 3.34 3.22 3.12 3.05 2.99 293 2.89 2.79 2.68 2.63 2.57 2.45 2.38 2.32 ,
m 17 6.04 4.62 4.01 3.66 3.44 3.28 3.16 306 298 2.92 2.87 2.82 2.72 2.62 2.56 2.50 2,38 2.32 2.25
3 18 5.98 4.56 3.95 361 3.38 B8 3.10 3.01 293 2.87 2.81 2.77 2.67 2.56 2.50 2.44 2.32 2.26 2.19
19 5.92 4.51 3.90 3.56 3.33 3.17 3105 2.96 2.88 2.82 2,76 2.72 262 2.51 245 2.39 2.27 2.20 2.13 _
20 | 5.87 4.46 3.86 351 3.29 3.13 3.01 281 2.84 2.77 2.72 2.68 2.57 2.46 2.41 2.35 2.22 2.16 2.09 |
21 | 5.83 442 3.82 3.48 3.25 3.09 2.97 2.87 2.80 273 2.68 2.64 2.53 242 2.37 2.31 2.18 211 2.04 |

22 5.79 4.38 3.78 3.44 3.22 3.05 293 2.84 2.76 2.70 2.65 2.60 2.50 2.39 2.33 2.27 2.14 2.08 2.00

23 | 575 4.35 3.75 341 3.18 3.02 2.90 2.81 23 2.67 2.62 2.57 2.47 2.36 2.30 2.24 211 2.04 1.97

24 | 572 4.32 3.72 3.38 3.15 294 2.87 2.78 2.70 2.64 2.59 254 2.44 2.33 2.27 221 2.08 2.01 1.94

25 | 5.69 4.29 3.69 3.35 3.13 297 2.85 2.75 2.68 2.61 2.56 251 2.41 2.30 2.24 2.18 2.05 1.98 191

26 5.66 4.27 3.67 333 3.10 294 2.82 2.73 2.65 2.59 2.54 249 2.39 2.28 2.22 2.16 203 1.85 1.88

30 | 557 4.18 3.59 3.25 3.03 2.87 275 2.65 2.57 2.51 2.46 241 231 2.20 2.14 2.07 1.94 1.87 1.79

40 | 5.42 4.05 3.46 3.13 2.90 274 2.62 2.53 245 2.39 233 2.29 2.18 2.07 2.01 1.54 1.80 1.72 1.64

60 5.29 393 3.34 3.01 2.79 2.63 251 241 233 2.27 2.22 217 2.06 1.94 1.88 1.82 1.67 1.58 1.48

120 5.15 3.80 3.23 2.89 2.67 2.52 2.39 2.30 2.22 2.16 2.10 2.05 1.94 1.82 1.76 1.69 1.53 1.43 1.31

w | 502 3.69 3.12 279 2.57 241 2.29 2.19 211 2.05 1.99 1.94 1.83 1.71 1.64 1.57 1.39 1.27 1.00
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F-Table Upper Tail Area of .05
Numerator df
r 1 2 3 4 5 6 7 8 9 10 11 12 15 20 24 30 60 120 a0

1 161.4 199.5 2157 2246 2302 2340 2368 2389 2405 2419 243.0 2439 2459 2480 2491 250.1 252.2 2533 254.3

2 18.5 19.0 19.2 19.2 183 19.3 194 194 194 19.4 19.4 19.4 19.4 15.4 19.5 19.5 19.5 19.5 195

3 10.1 9.6 9.3 9.1 9.0 8.9 8.9 8.8 8.8 8.8 8.8 8.7 8.7 8.7 8.6 8.6 8.6 8.5 8.5

4 7.71 6.94 6.59 6.39 6.26 6.16 6.09 6.04 6.00 5.96 5.94 5.91 5.86 5.80 5.77 5.75 5.69 5.66 5.63

5 6.61 5.79 5.41 519 505 485 4.88 482 4,77 4.74 4.70 4.68 4.62 4.56 4.53 4.50 443 4.40 4.37

6 5.99 5.14 4.76 453 439 4 428 421 415 4.10 4.06 4.03 4.00 3.94 3.87 3.84 3.81 3.74 3.70 3.67

7 5.59 4.74 4.35 4,12 3.97 3.87 379 373 3.68 3.64 3.60 3.57 351 3.44 341 3.38 3.30 3.27 3.23

8 5.32 4.46 4.07 3.84 3.89 3.58 3.50 3.44 3.39 3.35 3.31 3.28 3.22 3.15 3.12 3.08 3.01 2.97 293

9 5.12 4.26 3.86 3.63 348  3.37 3.29 3123 3.18 3.14 3.10 3.07 3.01 2.94 2.90 2.86 2.79 2.75 271

10 4.96 4.10 3.71 3.48 3.33 3.22 3.14 3.07 3.02 2:98 2.94 2 2.85 2.77 2.74 2.70 2.62 2.58 2.54

11 4.84 3.98 3.58 3.36 3.20 3.09 3.01 2.95 2.90 2.85 2.82 2.79 2.72 2.65 2.61 2.57 2.49 2.45 2.40

12 4.75 3.89 3.49 3.26 311 3,00 2.90 e 2.80 2.75 272 2.69 2.62 2.54 2.51 2.47 2.38 2.34 2.30

13 4.67 3.81 3.41 3.18 3.03 2.92 2.83 2.77 2.71 2.67 2.63 2.60 2.53 2.46 242 2.38 2.30 2.25 2.21

L5 14 4.60 3.74 3.34 3.11 296 | 2.85 276 2.70 2.65 2.60 257 2.53 2.46 2.39 2.35 231 2.22 2.18 213
m 15 4.54 3.68 3.29 306 290 279 271 2.64 2.59 2.54 251 2.48 2.40 2.33 2.29 2.25 2.16 211 2.07
m 16 4.49 3.63 3.24 3.01 2.85 274 2.66 2 o8 2.54 2.49 2.46 242 2.35 2.28 2.24 2.19 2.11 2.06 201

| m 17 4.45 3.59 3.20 296 281 270 2.61 255 2.49 2.45 2.41 2.38 2.31 2.23 2.19 2.15 2.06 2.01 1.96
f ° 18 441 3.55 3.16 %93 2.77 2.66 258 251 246 2.41 P37 2.34 2.27 219 2.15 2.11 2.02 1.97 192
., 19 4.38 3.52 3.13 2.90 274 263 2564, 248 2.42 2.38 2.34 2.31 2.23 2.16 2.11 2.07 1.98 1.93 1.88
20 4.35 3.49 3.10 2.87 271 2.60 2.50,. 2.45 2.39 235 231 2.28 2.20 212 2.08 2.04 1.95 1.90 1.84

21 4.32 3.47 3.07 2.84 268" 257 249 242 2.37 2.32 2.28 2.25 2.18 2.10 2.05 201 1.92 1.87 181

22 430 344 305 282 266 255 246 240 234 230 226 4223 215 207 203 1.98 1.89 1.84 1.78

m 23 4.28 3.42 3.03 2.80 2.64 %258 244 237 2.32 2.27 2.24 2.20 2.13 2.05 2.01 1.96 1.86 1.81 1.76
24 4.26 3.40 3.01 2.78 2.62 2.5% 242 2.36 2.30 2.25 222 2.18 211 2.03 1.98 1.94 1.84 1.7 173

; 25 424 339 299 276 260 249 240 234 228 2.24 220 216 209 201 1.96 1.92 1.82 1.77 171
_ 26 4.23 3.37 2.98 274 259 2.47 239 232 2.27 2.22 2.18 2.15 2.07 1.9% 1.95 1.90 1.80 1.75 1.69
.,, 30 417 332 292 269 253 242 233 227 2.21 2.16 213 209 201 193 1.89 1.84 1.74 1.68 1.62
m 40 4.08 3.23 2.84 2.61 245 2.34 225 218 2.12 2.08 2.04 2.00 1.92 1.84 1.79 1.74 164 1.58 1.51
w 60 4.00 3.15 2.76 253 237 2.25 217 210 2.04 1.99 1.95 1.92 1.84 1.75 1.70 1.65 1.53 1.47 1.39
AV 120 3.92 3.07 2.68 2.45 2.29 2.18 2.09 202 1.96 191 1.87 1.83 1.75 1.66 1.61 1.55 1.43 1.35 1.25
_ © 3.84 3.00 2.60 2.37 2.21 2.10 2.01 1.94 1.88 1.83 1.78 1.75 1.67 1.57 1.52 1.46 1.32 1.22 1.00 |
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1.

(18%) JEEBBAZEALE ) EERT - B RENELR  ERUEEUEREIE - 3
—-TE > BRMEEEENN G  SEEREERINE - UM R = EERE RIRE
PRETHIN BRI TR ER Ta AR RS -

(20%) 2017 EERIELEFTERIRINLE - HNAEHFTREEHERIFATEF (B
i BE - ABUR SATE) BARRERFIZ - BLS{AR (A C Harberger) HYMEIFIHE
FRERTE— AR BTIE A2 » DIEEE MR (factor substitution effect) RZEHZER (output
effect) fZFE 2017 ZEEMNAFIFZEEAIRENER ? (10%) X SEBIEIANEEIEA A E]
ERPIETIRAR » BT BE MBS RS Z P B APRIS T ML AVAE R 7 (10%)

(20%) {BEAFRETE AR E H 385 (realization-based taxation) [FFI @ FNECEEERIL K7
FUszs - A AR > 1 maRif - B—BHE  FrlgHls 2 AFHE AR HABARSSTER
& o FENEYE A SRS AR S Tt EE A L 0% B - FIER—F
A 2 B BRI A R L BN Ao & - e B FARRZ AECE E e A e R amiSaE -
Rt —F BRI HilL ' R EESE mEs  BITERRA FRIUE  ORER
EHEIZ L EREAS  #iTE D HEFREN Z W ARG SRR 2 D& FRETSEE
IRFE—FRLHE « BF Z S ERRER 40%  FIHIEELPMRERE -

(@) (10%) HE&EABTARHREIEE HE T HEFEHBEERRGHEER?

(b) (10%) FHLL (a) 4FFfRE S & ARS SRR Fr ] s 2 ARV A -

(28%) TAR#EE L/ NARRTS (B0 UberEats-si Foodponda 55) B [#E57 %l BaaT 3R - B
Z—TERINE B 7 KRR B R e RS » AR P BRSSP BRI NARB R
AEHEE R R P &4 B (B MNITISERETI NS TEE « BAx et 567 NS IR S YR E - B |RS ST
AR FHVBIENZE R 32— x ~ BBRRALABGE B S 2x o IBIRIRE R

{x—S, ifx>5;

0 otherwise.

(@) (10%) DAEENRRE - G AEE  WERUNRIEINERBHEBENZ - BIERARE -
BEEED REBH G ) WHEBIESEBNTIET » BEIMERERBRME? 58
ZBEINERRBE KRB Rfa?

(b) (8%) o] LA Pigouvian tax ¥R 2 BELSMAMRMSRE? SR T FERLZ KU R o] ?

(€) (10%) EBRELIMNARIGHTBIEFIZEE R 20— (Fl40° ARG HBERMARB AL

"L TTEEEAERFE) - #FHEEE (@) - (b) M- -
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5. (14%) ZE AT (Lyman Frank Baum) Fi&Z (43EUHE) (“The Wonderful Wizard
of 0z") —EE~E (BT ) (The Cowardly Lion) BHLTHF

“Thereafter he [the Tin Woodman] walked very carefully, with his eyes on the road,

and when he saw a tiny ant toiling by he would step over it, so as not to harm it. The
Tin Woodman knew very well he had no heart, and therefore he took great care never
t0 be cruel or unkind to anything. “You people with hearts,” he said, “have something
to guide you, and need never do wréhg; buthave no heart, and so I must be very
careful. When Oz gives me a heart of course I fieedn‘t mind so much.”

() (5%) BERECEsTRITAHE NG ERERRGHIRR (Tin Woodman) #F7r—EANGEAATE
e ik » GEER A TR IMET A
(b) (%) TEEF(RRMEAT e L A L (a) HYREDRE?

1 | T Ve BB LEE AT -
Fol = R AR -




